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1 g'jfsf]6 l;rfO kf]vl/ lgdf{0f g'jfsf]6 400000
2 jfnljsf; ejg lgdf{0f g'jfsf]6 250000
3 s's'8] d;flg dlGb/ lgdf{0f g'jfsf]6 300000
4 kTy/s'g] dlGb/ lgdf{0f g'jfsf]6 300000
5 P]nL l;rfO gx/ lgdf{0f g'jfsf]6 1000000
6 vpb]p dlGb/ lgdf{0f P]nL 200000
7 tf]nf v]tL dlGb/ lgdf{0f P]nL 200000
8 lah'gf vfg]kfgL dd{t P]nL 200000
9 dxfb]JoZj/L cf=lj=ejg dd{t P]nL 250000
10 ;fd'bflos :jf:Yo OsfO{ 3]/kvf{n dd{t P]nL 50000
11 8f8fjfu dlGb/ of]hgf  sf8L 900000
12 d'naf6f] 9nfg of]hgf sf8L 300000
13 nIdL cf=lj=sf] @ sf]7] ejg lgdf{0f sf8L 250000
14 nIdL cf=lj=sf] 3]/kvf{n lgdf{0f sf8L 250000
15 e'hgL vfg]kfgL 6+ls tyf d'xfg ;+/If0f sf8L 150000
16 sfl8 ;fd'bflos :jf:Yo OsfO{ 3]/jf/ lgdf{0f sf8L 150000
17 o'jf Snj ejg Knf:6/ cfbz{ # 50000
18 t]l8 dlGb/ tf/jf/ lgdf{0f cfbz{ # 50000
19 cfu/ jf/fsf8fF ;8s d];gl/jfn cfbz{ # 700000
20 cfu/ vfg]kfgL of]hgf -s'jf_ cfbz{ # 100000
21 b]lj dlGb/ lgdf{0f cf8 250000
22 5l8 dlGb/ lgdf{0f cf8 400000
23 gfn9'ª\uf cf8L uf8 t6aGwg cf8 150000
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24 em'8f cf=lj=@ sf7] ejg  hu lgdf{0f em'8f 300000
26 EjfNnf l;rfO kf]v/L lgdf{0f em'8f 250000
27 em'8f l;rfO kfOk vl/b of]hgf em'8f 150000
28 em'8f vfg]kfgL kfOk vl/b em'8f 100000
29 hfns'n] l;rfO s'nf] lgdf{0f hfns'n] 100000
30 uf}t8f l;rfOs'nf] lgdf{0f uf}t]8f 100000
31 ;fOv]tL t6aGwg of]hgf ;fOv]tL 100000
32 dxfb]j dlGb/ lgdf{0f of]hgf sf8L 300000
33 /]8qm; ejg lgdf{0f b]lxdf08f} pkzfvf cfbz{ # 100000
34 pTs[:7 P;=O=O= 5fqmj[lt % hgfnfO cfbz{ # 50000
35 jfnjflnsf c f l g cled'lvs/0f cfbz{ # 100000
36 dlxnfx?nfO ;r]tgf d'ns cled'lvs/0f sfo{qmd cfbz{ # 100000
37 ckfª\u c;St / Pe=cfO=le= lkl8tnfO cled'lvs/0f sfo{qmd cfbz{ # 70000
38 h]i7 gful/sx?sf nflu ;Ddfg sfo{qmd cfbz{ # 30000
39 blnt dlxnfx?sf] nflu ;r]tgf d'ns sfo{qmd cfbz{ # 100000
40 s[lif tkm{ ! 3/ ! s/];fjfl/ sfo{qmd cfbz{ # 250000
41 kz' :jf:Yo tkm{ cf}iflw vl/b cfbz{ # 250000
42 ljkt Joj:yfkg sf]if cfbz{ # 50000
43 e}kl/ tkm{ cfbz{ # 150000
44 jg tkm{ ;/f]sf/jfnf x?nfO ;r]tgf sfo{qmd cfbz{ # 100000
45 v]ns'b tkm{ cfbz{ # 100000
46 o'jf ;/f]huf/ sfo{qmd cfbz{ # 300000
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